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lnstruction to Candidates:
1) $ection - A is Compulsory.
2) Attempt any Four questions frorn $ection - B.
3) Attempt any Two questions from Section - C.

Section - A (2x10=20)

Ql. What is handoff?

Q2. Differentiate between fast fading and slow fading?

Q3. Describe the concept of ciphering.

Q4. List the G$M services.

Q5. Describe buffer-and-burst method.

Q6. what is the cause of self-jarnming problem in cDtvlA?

Q7. Define co-channet reuse ratio.

QS. What is l$l?

Q9. why do paging systems need to provide low data rates.

Ql0. What is frequency pfanning?

Section B (Fx4=20)

Q1 " Why handoff is necessary for cellular systems? Deterrninc thce tuys types ot
handoffs based on signal strength and C1f ratio.

Q2. Explain TDMA frame structure. Describe the efficiency of TDMA.

Q3. Differentiate between flat fading and frequency selective fading.

Q4. Explain paging system

www.sc
ho

lar
ex

pre
ss

.co
m



Q5. Describe reverse !$-95 channef modulation process for a sinqle user.

Section-C (10x2=20)
Q1' What are various spread spectrum multiple access techniques. Exptain in

rietaif .

Q2. Explain GSM system architecture & frarne structure for G$ttn.

Q3. Explain co-channef Interference and system capacity.

k _ * E N D - k ,

www.sc
ho

lar
ex

pre
ss

.co
m




